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Correct Ans : A
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A FaTyE ®1 e

B IAdaT g FawTl

C Rren & wfy s=at &1 g7 w3
D SfiruTast ®1 fRar «R

Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question
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Passage:
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Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:
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A e
B 3
C ST
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Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:
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IR Fhel-5H BT IR
N TP P18 Iwia
YH-SIHT BRI
W YR-gE FT 4R
T NI FHA G,
A SHT=M BT YIR;

M R e g e
W™ YoM & IUAR--
78! fd7g § TRER|

Q.No: 5 . . .
570534850 T A O Suda Uik & TR @1 AW Srge-

A FHRIGART e
B rapwr Wt Td=
C I Agen

D gftae ua

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:
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Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:
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Q.No: 7
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A 3M® IR, TA:-T: |
B YD ST
C Pifera g
D Y AR 3T ST

= 7§ 'IRER’ &1 3 /1 82

Correct Ans : A

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:
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Q.No: 8 Iudad dfaal & SR Rad =M &1 g Fifom-

270534853
NyR-gdier_ NMRBIH &
A wd, Bd
B YR, HR
C Y9, ddg
D YR, B

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Q.No: 9 In the following question, a passage is split into 4 parts and named as P, Q, R and S. These four parts are not given in their proper order.
2677063 Read the passage and find out which of the four combinations/sequence is correct.

P. But a new research may have put the final nail in the coffin, at least for exoplanets that orbit their stars as closely as LHS 3844b.

Q. There is an ongoing debate among astronomers that whether the rocky, roughly-Earth-sized exoplanets that orbit Sun-like red dwarf
stars make good candidates for alien life.

R. The study found that the exoplanet orbits its star similarly to how the Moon orbits Earth - the same side is always facing inward.

S. That star-facing side of the planet sits at a roasting 767 degrees Celsius, while the other side is over a thousand degrees colder, resting at

-273 C.
A QPRS
B QRSP
C PSRQ
D PRSQ

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 10 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and
2677219 (hoose the option that provides the correct final order.

P. The grave of America's first naval hero was lost sight of.
Q. As the city grew, the property was sold to a building contractor; the cemetery was effaced; houses were built over it.
R. Later he went to Paris, and there he died in 1792.

S. His body was carefully embalmed and was put into a leaden coffin and quietly buried in a cemetery on the out skirts of the city.

A RSQP
B RPQS
c SRPQ
D SPQR

Correct Ans : A

Subject : Gen. English (English Lang 2)
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(22.7'\;.07:61718 Select the correctly spelt word.
A defensive

B defience

c faulter

D formalty

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 12 In the question below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and
2717999 (hoose the option that provides the correct final order.

P. And General Gage, with several regiments, was sent to govern the people of Massachusetts.
Q. The Boston port was closed to all trade until the destroyed tea should be paid for.
R. The king thought this rebellious colony should be punished.

S. When King George heard of the Boston Tea Party his anger knew no bounds.

A SRQP
B SPRQ
C PSQR
D PRQS

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 13 The sentences in the paragraph have been jumbled. Rearrange the following sentences into a meaningful sequence.

2718025
A. Turmeric is said to minimize the risk of blood platelets forming clots by relaxing the blood vessels and preventing a heart attack.
B. Strokes and heart attacks are usually the outcomes of the accumulation of blood clots in the arteries.

C. Turmeric can prevent clot formation and reduce plaque build-up.

D. A wide range of heart disorders is the result of plaque build-up which causes blood clots to form in the arteries of the brain or heart.

A DBCA
B BDAC
C CADB
D DABC

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 14 Which of the following period ‘Bhagwanpura’ site belong to?
2701639

EAFRT R FEfiied # ¥ fw o a1 82

Neolithic period

SCEININCIN]

Period of Rig Veda

FHIAG BT A

C Mughal Period
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HITS DTl

Pre historic period

i Wehie s

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 15  Which of the following is an incorrect combination of the terms used for professions in the Vedic period?

2701646
frofofea & & o @1 e 1a § agurl & o wged eal &1 Tad WaieH 82
Police officer - Gramani
A
gfere sty - arwoht
Messenger - Palagala
B
HSRM@ATED - TenTan
Charioteer - Suta
C
IrAe - ga
Accountant - Akshavapa
D

AGIBR — SH&ETaT
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 16 Who brought the Mauryan empire to its highest times?

2701732
W TS Bl 3P Tare Biet B o g ?
Chandragupta
A
e
Bindusar
B
fogemr
Ashoka
C
AP
Sushima
D
g

Correct Ans : C
Subject : SOCIAL SCIENCE
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Q.No: 17 Which of the following is incorrect about the Ashoka’s administrative policies?

2701734
RN B U= Hfodl F IR # fFufafed ¥ @ S @1 Ted 32
He employed spies to look after and get information from his subjects.
A
I SO+ T B T@UTT R SR ST AFHRY U B & R TRt B e
He maintained a balance in Kautilyas’ power centred policies and Buddha’s path of renouncement.
B
IR Py At e Hixa ARt ok 95 S @1 & anf & dgas a1 @
He constructed wells at each nine miles for travellers.
C
I TEl & e 7l Y Hid ) $¢ gan|
He was moved with the massacre of Kalinga war.
D

98 BT g5 & AR A fad g1 741 U7l
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 18 Which of the following Vedas has the musical chants?

2701771
ol & 9 fog dg & Siiama 7 § 2
Rig Veda
A
FWg
Yajur Veda
B
agde
Sama Veda
C
GILE
Atharva Veda
D

3Jydag

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 19 What was the name of Rashtrakuta king who defeated Gurjar Parihars to capture Malwa and defeated Chalukayas also to become the
2701837 prominent power in Deccan?

I AFFHT T BT W T AT FoRT ATl IR Fooll B $ (AT Tor IRGRI BT g1 SR et B H SIa 59 | UgE Wfed &7 1

Dantidurga

dfergt

B Krishna I
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DU UYH
Govinda III
C
Tifde qeta
Amogavarsha
D
STyt

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 20 What was the name of Turk officer who destroyed Nalanda and Vikramshila ?

2701851
el 3R fAFARRIEr S T8 HRA A gh SRIHRY BT w1 A o7 ?
Bakhtiyar Khalji
A
qfemar faesh
Qutub-ud- din Aibak
B
FqI-Se-4F T
Muizzuddin Mohammad
@
TEOIEH GeHIg
Baraim Khan
D

N GH

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 21  Who was the ruler of Gujarat when Mahmud Ghazni invaded the Somnath temple?

2701855
TORTd &1 NS DI YT T HeHg ol 3 T HiR W SHehavn {35 o7 2
Sukhpal
A
gEuTe
AQueen
B
TF IET
Gand Chandel
c

g <ied

D Bhima
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oftg
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 22 From which country Akbar borrowed the idea of Mansabdari system?

2701985
TAIEER] AR F faaR srdeR 3 e o= 3 foram o1 2
Central Asia
A
e TiRmr
Europe
B
LSk
South India
C
SRR0T WRd
Greece
D
Pt

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 23 Who took away the Peacock throne of Shah Jahan ?

2702003
TMESTet &1 FgR RigrH fvem B foran 2
Ahmad Shah Abdali
A
JEHS MG SfeATet
Nadir Shah
B
RUCIRU
Timur
C
a
Queen Victoria
D

TR faweiRar
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 24 In which of the following, highest salinity is found?
2703712
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& 3 foad gaffte waurar org St 82

Black Sea

BTl AR

Vaughan Lake

at g

Mediterranean Sea

YAY IR
Red Sea

SIGSIRIES
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 25 Which one of the following is the longest beach in India?

2703730
frofofed & I PH-1 YR &7 J99 qwT 995 d€ 82
Marina Beach
A
i e
Kovalm Beach
B
FIqaH qC
Kollam Beach
C
Plead qC
Chorwad beach
D

IRATS d¢
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 26 Which of the following figures gives the agricultural product’s export value of 2021-22?

2703817
Frafefaa & & PH-a1 siicesT $ Iarg o1 Fafd geg af 2021-22 & i€ s 82
US $49.6 bn

A
49.6 fafer sARST STeR
US$42bn

B

42 R AR sTeR
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US $ 30 bn
C
30 fafer smRat st
US $ 10 bn
D
10 fafera sAftet ster

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 27 Read the statements given below and answer the questions that follow.

2703852 Assertion (A): Although the accumulation of physical capital is quite important in the process of economic growth of a country but with the
passage of time, it is being increasingly realized that the growth of tangible capital stock depends extensively on the human capital
formation must get its due importance.

Reason (R): In the absence of adequate investment in human capital, utilization of physical capital will be at low pace, leading to
retardation of development.

19 fau T U @ ufey iR Ut & SR i

FYT (A): TS Bt 3T & e o ot ufssan & 1fas doit &1 W=a F1wt Teayul 7, dfess g sias & 9, I8 aoft ¥ 7egy far o <81 & o o
Uit Tl 1 gig 98 UM W A geit Fafor w Rk et 8, 59 W Sfid wew faar s

PIROT (R): HH4 Goit & Tai Faw ot sruiufy J, Hifde goh &1 Sua & Tia § grm, S e @t iy die & s

Both A and B are correct. R is the correct explanation of A.

A
A 3R B 31 9§l €1 R, A 3 Wt e 1
Both A and B are correct. R is not the correct explanation of A.

B
A R B 1 981 §1 R, A T W8I TSN 781 7
Both A and B are incorrect.

C
A 3R B g Tad 7
A is correct but R is incorrect.

D

A &  AfP R e B
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 28 Identify the author of book ‘Bank 4.0’, who said “Banking is no longer somewhere you go, it's something you do." with reference to the
2703864 zdvancements in the digital payments?

SF 4.0' TP F AGH $Y ggag, e fefea yram & wify & e & we1 ar, "3t @ 95 =gt 8, el o 9 €, U8 $© QW 3 S 37 I g1

Brett King

oe fam

B Bernado Nicoletti
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EEISREEICT
Bimal Jalan
C
[EECESINIE]
Urjit Patel
D
Sfefa wea

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 29 Urban Cooperative Banks in India are-

2703869
YR ¥ Y HePR 9P §-
Controlled by local boards
A
wirg dst grt frafa
Controlled by RBI directly
B
W smefaong gt Fafa
Controlled by state governments
C
I PRI gR1 Frafa
Controlled by local boards and RBI
D

T SISt ik RBI gRT fRRif3a
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 30 Who has released a discussion paper on Digital Banks - A proposal for licensing and regulatory regime for India?
2703917

fSfted ot R te =i U7 - "URA F e AgdRi SR e wH-ugfa &1 uae- e ot far 22

Niti Ayog
A
A amar
RBI
B
YR Red S
Finance Ministry
C

foa warera

Prime Minister's Office
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T Srafaa
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 31 When was the Reserve Bank of India was nationalised?

2703928
R Rrd S &1 ISraa wd foar mare
1947
A
1947
1948
B
1948
1949
c
1949
1950
D
1950

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 32 Which one of the following is not a Payments banks operating in India?

2703981
iR &  BH-a1 YR § Geuifed yrae 3% T8 22
India post payments banks
A
e e Hew §%
NSDL bank payments Ltd.
B
Teasied ¥% Y fufies
FINO Payments Bank Ltd.
C
fret dicw ¥ fafies
Krishna Bhima Smurrdhi Bank Ltd.
D

P Hiwr |y @ s
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 33 Though Aurangzeb was not much interested in architecture. Which of the following was not constructed by him?
2704072

T Ao &) argear & siftre Jfa 72T ot Fufafaa & @ frwer fufor 3% gr A&t fosan mar wre
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Biwi ka Maqgbara

A

dtdt &1 7HaT

Pearl Mosque
B

Hiet AT

Badshahi Mosque
C

TIeRITE ARG

Gol gumbud
D

e g

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 34  Which of the area cultivated Tobacco during Mughal rule?

2704104
A RIRH & GRM 50 87 & awig at Dt Bt ot 2z
Bengal
A
UG
Gujrat
B
ToRTd
Delhi
C
it
Bihar
D
fER

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 35 Bombay was declared the headquarters of East India Company in which year?

2704165
s P e ¥ S a1 U 1 g Bt foar T ur?
1687
A
1687
1688
B
1688

C 1689
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1689
1690

1690
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 36 Which of the following is not a proper way to establish strong communication among family members?

2707954
iR & § B 9 aRaR & Yol & fiF Aoy TUR Wfd B3 B IR adier T2l 82
Communicate frequently
A
SR aTq BT
Reveal a little only
B
UIST € e B
Communicate freely
C
AT ¥ & ARG BT
Be a patient listener
D

TP A Sar g9

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 37 Who is not a member of selection committee for the appointment of chief of human rights commission?

2708011
AFABR S & ToE $ Fgfed gg Tu A B Jo& BIF g giar g ?
Prime Minister
A
gy H#A
Leader of opposition
B
frger & Aar
Deputy Chairman of the council of states
C
It B aikug & SuTeder
Chief of armed forces
D

YA Tl S T
Correct Ans : D
Subject : SOCIAL SCIENCE
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Q.No: 38 To whom the Chairperson of Human rights commission address his resignation?

2708012
AT SRR SN FT 3ieael U1 AN U o Traifira e © 2
Prime Minister
A
u HA
Chief Justice of India
B
YRA & T grandh=r
President
C
gt
Cabinet of Ministers
D

Hhuiug
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 39 Which of the following was not a declaration of Geneva convention on child rights?

2708013
Fofafed & 9 o @ 9 SfeR! R SR awad &1 9won T8 o
Hungry child should be fed.

A
YR T HY G R AR
Illiterate child should be schooled.

B
FReR o= B wpelt Rrem & W kTl
Erring child should be reclaimed.

C
AN HA T I T Y919 a1 w1 A1
Home less child should be sheltered.

D

R A a2 # sy R s wfgwl

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 40 Which of the following Article of constitution ensures that a child of age less than 14 should not be employed as labor?
2708014

TRY HT B A erTde T8 YARHT IR B 15 14 a8 S H9 oy & 9= &) 9w & wu § i T2 fvar s anfge?

Article 21

3g®¢ 21

B Article 15
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3T 15

Article 24
C

TR 24

Article 29
D

TG 29

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 41  Which of the following Article ensures education right of the Children?

2708015
fofafed & @ o9 1 of®e a=t & Ram & sfieR & GART H=ar 82
Article 21A
A
IJDG 21A
Article 15
B
3¢ 15
Article 24
C
TG 24
Article 29
D
TG 29

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 42 Which of the following is not correct about model code of conduct devised by Election commission during the elections?
2708051

T F GRI TG SN GRT 1T 1Y 3esf SMaR dfgar & IR # Fafifed & @ &1 9 o3 98 761§ 2

Kerala's state assembly elections in 1960 marked the debut of Model code of conduct

A
1960 ¥ I & =T RYUFTUT TAGY 7 Srexf AR Hiar 1 ywama ot
It is designed after consulting the political parties.
B
T Ioiae gal & RTA B F 91g 9T ™17
Political parties are not consulted before preparing the model code of conduct
C
et TR HiFAT TR F F U5 AeIE gl | Harg A€ ot et @
In 1979 election commission made provisions to regulate the party in power and prevent it from gaining an unfair advantage
D at the time of election

1979 & gHTE ARNT 7 w1 H urdf @t fafrafia a1 ok gA1e & aug sgfa @y ure A | A% & gy B
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Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 43 Which of the following is correct understanding of powers of election commission of India in case of disqualification of members of the
2708052 parliament ?

IicaR! & T B ATl S TS T YR P TG AT BT WiGTa) Bt Tel Iy Fefia A ¥ e @ E 2

The opinion of commission is binding on the President.

A

JTART FT 9 APl F e areaeR 31

The opinion of commission is not binding on President.
B

START B 37 APufa & g areasrt 76 71

Prime Minster is the final decision maker in these cases.
C

3 arHal § gy sifem Frofawaf 9§

The matter will be decided by the chief justice of India.
D

39 A ¥ hadr YRd & g1 iy $ |
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 44 Read the statements given below and answer the question that follows.
2708053

Assertion (A) : Election Commission of India, in 2009, formally adopted Voter Education and Electoral participation as an integral part of its
election management.

Reason ( R) : Voters’ Participation in the democratic and electoral processes is integral to the successful running of any democracy and the
very basis of wholesome democratic elections.

4= feu MU Sy 1 ufen SR fou Tw sl & SR v
HUFHYUT (31): YRA & TG SR 7 2009 F M= FU F Tagrar e iR gt yrfiart ) oo gA1a vee & Ue i 31 & = S|
PR (F): ADdiED 3R A Tfsearst & Haarareh &t HrfiaRt fet ot dibda & Twa GareH 3R W dibdiEe Il Bl MR Bl

(A) is correct but (R) is not correct.

(A) §E ? Af%T (R) & T8 21

(A) is not correct but (R) is correct.

(A) & 716t @ AfPpA (R) T B

Both (A) and (R) are correct and (R) is the correct explanation of (A).

(A) 3R (R) &I 68t 7 3R (R), (A) 3 W& AL 71

Both (A) and (R) are correct but (R) is not the correct explanation of (A).

g1 (A) 3R (R) U8l § afF7 (R) (A) ot w1 =aren =161 71

Correct Ans : C
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Subject : SOCIAL SCIENCE

Q.No: 45  Which of the following institution of international cooperation in field of elections had India as one of its’ founding members?
2708054

TG F &7 § SfRigia weam &t Fufafed # ¥ fry Iwr & Ywiue gawl § § U6 HRA 91?

IDEA (International Institute for Democracy and Electoral Assistance)

A
ITEFEAT (3T WY BIR SHIhH! TS 3R SR )
Election Committee for International Cooperation
B
SR weah & fig gma Wi
Institute of International cooperation in Elections
C
FATEl § SfRTgia WeaT SR
Cooperation in electoral reforms Committee
D

A9 YR JganT |idfay

Correct Ans : A
Subject : SOCIAL SCIENCE

Q.No: 46 Which of the following Article of constitution provides for an election commission of India?

2708055

Ty & Pl ¥ 9 59 eifwe § YR & 19 SR BT WGy 82

Article 371
A

TG 371

Article 324
B

TG 324

Article 361
C

ITDE 361

Article 367
D

IITDE 367

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 47 Which of the following is not an objective of foreign policy of a nation?
2708094

fofafed & 3 o9 o e Iy 3 e Ay o1 sy e 82

A Protecting territorial integrity
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&g srEEdr $t & ST

Maintaining healthy relations with international community

B

SIARRTETT TG & ATY W Y T 3@

Promote national interests
C

wfta Rl 2 wgrar 3

Oppress weak neighbors and align with country’s interests
D

FHSIR USRI BT GHT AT R 3 & el & 1y areda s
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 48 Which of the following option does not give the core objectives of any foreign policy?

2708095
a & 4 o 91 fasey ol off fadw Aifa & 1ot Se=g 78 <ar 82
Self-preservation
A
TR0
Defense of strategically vital areas
B
oo U & ggayu! &= Bt vaT
Religious unity
C
uTfifes g
Regional domination
D

& yya

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 49 What type of interests are not involved in the formation of foreign policy?

2708096
fagw fify & Foior & f5a yeR F fia it 7 82
Primary interests
A
iy fea
Permanent interests
B

I fRa

Variable interests
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ufad==ia st

Spiritual interests

e sfat
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 50 Which of the following factors does not affect while making a foreign policy?
2708097

fad iy s v FRgffd § ¥ H9-91 R uvifad 78 Hdr

Geo strategic situations

A
y araRe fRufoai
Population potential
B
SES Bt &
Economic endowments
C
e st
Religious considerations
D

uifife far
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 51 Read the sentence to answer the question that follows.

2708098
Assertion (A): Greater the population of a nation, greater will be its power.
Reason (R): Populations determines the foreign policy of a nation.
13 foU 7T Uy &1 IW A & o I H ufgul
AHHYT (A): 5 P Bt Fee o ot grfl, IuaT e Ia-t & SHe® gl
PRUT (R): TGS forddt Y 3 fagm Aifq &1 FaRo st 31
(A) is correct but (R) is not correct.
A
(A) W8 & WP (R) W& 78 &1
(A) is not correct but (R) is correct.
B
() W&t T & A% (R) W &1
Both (A) and (R) are correct and (R) is the correct explanation of (A).
C

(A) 3R (R) &I & € 3R (R), (A) Bt 9 =ren ?1

D Both (A) and (R) are correct but (R) is not the correct explanation of (A).

GET IT ON

Google Play
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g1 (A) 3R (R) 981 § afF (R) (A) ot ) =aren =181 71
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 52 Which of the following was not adopted by India as a change to its foreign policy after the cessation of cold war era?
2708111

Nagg T S I F &g YR 3 3o ey ifa & afvad™ & wu & Fofafes & 3 59 =& soamm?

Liberalization

A
EEREaL|
Reduction of state control
B
I F o § St
Encouragement of foreign investments
C
fae=h fraw ot vieme=
Nationalism
D

ITgdare

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 53  Why did India choose ‘Non alignment’ policy after independence?

2708112

AT & §1E URA 3 TefRugar iy i g

It wanted to concentrate on growth rather than on arms and wars.
A

Tg gRARY iR g5 & ToIg e W) o= S &1 drean 41|

It did not want to distance from any one USA or Soviet Union.
B

Tg el ue Tgea Wy SAReT a1 Hifdad Tw A g7 e g1 =g

It did not understand which side is more powerful at that time.
C

g gAE A TEY 3HTaT T fF 39 TG BT A1 vt i AfwT=mmel g1

It did not have relationship with either of the block countries.
D

OSSN P el ot g & ary ey T AT
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 54 Which of the following measures were taken by India to ward off the threat by its neighbour for territorial conflicts in first decade after
2708113 independence?

A. Economic embargo
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B. Alliance
C. Treaty

D. Threats of force

WA P SIE U B T HR GRT 30 TSR & 1Y SAMISR Fusl & 7T Wk &l ¥ HA & g FHufafaa § § o 9 S by e 32
A. 3 vfrter

B. TadeA

C. gy

D. §a &I YHD!

ACA

ACA

BC

BC
ABC

ABC
ABCD

ABCD
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 55 Why did India refused to sign the Non-Proliferation treaty in 1968?

2708114
HRA 7 1968 7 TR A TR FHAER B 4 TTHR ] fopar?
India wanted to become an arms power.
A
YR X WfRT ST 918t AT
Pakistan had also not signed it.
B
uiferwar A o 39 W gwaer T famar A
It was against the expansion plans of India.
C
g URd Bt fIR drnsi & f@eme umi
It was in favour of India
D

g YRG & T& ¥ 1|
Correct Ans : B
Subject : SOCIAL SCIENCE

Q.No: 56  Who is India’s second military partner after Russia?
2708115
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T F T YR BT GO T TRIEGR B 82
USA
A
RS
Israel
B
ENNEN
United Kingdom
C
gaT3es fbtrew
South Korea
D

aféror wifear
Correct Ans : B
Subject : SOCIAL SCIENCE

Q.No: 57 Who was the first external affairs minister of India?

2708116
HRA F T fagm #: B A2
Khan Abdul Ghaffar Khan
A
G 3fsgdl TRPR W
Sardar Patel
B
WER A
Jawahar Lal Nehru
C
SATER W e
Mahatma Gandhi
D

TeTe mish
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 58 Who is responsible for forming Indian foreign policies?
2708117

YRt g A & Rufu $ R $H SwRarh 22

Prime Minister’s office

Ty W Pratad

B Ministry of external affairs
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g warery
Indian Foreign Services
C
WRdtg fager dar
Ministry of Home affairs
D

g HATTd
Correct Ans : B
Subject : SOCIAL SCIENCE

Q.No: 59 Which of the following is the other name generally given to ‘foreign policy’?

2708118
R e Y B o -1 A o ST 82
Democracy
A
GICTES
Diplomacy
B
T
Strategy
C
Iurifa
Politics
D
RNEETIT]

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 60 Which of the following was not a reason for emergence of anti- India propaganda in Bangladesh during closing years of Mujibur Rahman’s
2708137 o137

Frafefed 7 & S gefler WA & I F 3ifad anl & IRA Seme™ 7 4R RRIG TER & IHRA BT SR T UT?

Rise of Communalism in India

A
HRA A AR 3T 34
The differences on Farakka Barrage
B
TREP] 9 W 7AHG
Uncontrolled smuggling through border
C
A & wremd | st st
Stopping of refugees and fencing of border by India
D

YR GRT IRV &Y A1 3R WA W) 18 91
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Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 61 Which of the following was not an issue of conflict between India and Bangladesh?
2708138

frofofed & I HH-91 YR IR Iaew & st goy &1 geT 6t e

Sharing of Ganga and Teesta waters

A
T 3R FT F 9 BT Feart
Delineation of the maritime boundary
B
Tl T &1 Y@ieT
India’s anti Pakistan approach
C
YRA $1 Uifwa faRidt efion
Ownership of South Talpatty island
D

gféror aaugt §iu &1 wnfia

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 62 Problem of Chakma refugees is related to which of the following neighbors of India?
2708139

IHAT IR 3 T URd & Fafifed 3§ § e veri 3w ¥ geifta 72

Pakistan
A

ifear

Bangladesh
B

FiTae

Nepal
C

e

Sri Lanka
D

sfeiept

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 63 Read the statements given below to answer the question that follows.
2708140
Assertion (A): India and Maldives have friendly relations.

Reason (R): India and Maldives have consistently supported each other in multilateral forum such as the UN, the Commonwealth, The NAM
and the SAARC.
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e fou MU us & IR < & forg e fou N wuel & U
SUBYT (A): HURA 3R A@ET & A ey g
FRUT (R): HRT 3R AEIG 7 TYa Y, TTHSA, TILLH 3R b oY Igueny Hel § TaR TH-ge 31 90 51 g1

(A) is correct but (R) is not correct.

(A) §€ ? Af% (R) & T8 21

(A) is not correct but (R) is correct.

(A) T T @ AfpT (R) T B

(A) and (R) are correct and (R) is the correct explanation of (A).

(A) 3R (R) T 9@ § &R (R), (A) @ 9 =rem 21

(A) and (R) are correct but (R) is not the correct explanation of (A).

T (A) 3R (R) U8 § fPA (R) (A) i WEI =8 =161 51

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 64
2708141

Which of the following statement is incorrect about India-Sri Lanka relations?

e & ¥ S5-I By HRd-Sicier Joet & IR F Tad 82

India and Sri Lanka started their economic cooperation very late.

YRA SR et 3 eror e TgalT 9gd X A = fwam

India gave loan of five crores to Sri Lanka in 1967 for infrastructure development.

YR A gHAT o & faer™ F forw 1967 # dide &) uid ws &1 Hur ar arl

Sri Lanka has increased its proximity with China in last decade.

et A oA TP ¥ & 919 & 91y U fAepear 9e1S 81

India did not help Sri Lanka in its financial crisis in 2022.

HRT 7 2022 H feidT F 3G Iy Toe A Aeg 78 Tt

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 65
2708142

What type of relations India have with Maldives over the years?

fUze auf # Aracid & WY YR & 59 TSR & JaY ] 872

Tense

qTaguf

Cordial

GET IT ON
Google Play
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Hrgrégef
Reciprocating
C
TRERS
Unstable
D
RR

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 66 Which of the following is the example of healthy relationship of India with Bhutan?
2708143

o # ¥ PH-I YeH S Y URA & W Y4} BT IaE0 82

Development of a new international airport

A
TP Y SRIPIY TS 3 T b9
Development of Hydro electric plant by India in Bhutan
B
Ye™ § HRA §RT Jafdeqd wax &1 e
Supply of arms to Bhutan
C
YT @1 gIARY 31 amyfef
Developemnt of nuclear plant in Bhutan
D

Y W URHTY WU &1 o™
Correct Ans : B
Subject : SOCIAL SCIENCE

Q.No: 67 Which of the following is not an example of anthropogenic disaster?
2708162

i@ & & B A 3TUeT BT IereRul el 82

War
A
s
Cyber Attack
B
TIFR 3P
Radiation leakage
C

faferzor frama

Corona pandemic

GET IT ON

Google Play
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HRIFT TETART

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 68 Which of the following is not a factor that causes flood?
2708163

Fefifed § 9 SH-T1 SRS 918 BT HRU T&1 87

Breaching of water reservoirs

A
AR PT g
River bank erosion
B
I d¢ T Hera
Better drainage system
C
YR o Rt sgawn
Deforestation
D

=l P BeTg
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 69 Which of the following is not a type of flood?
2708164

frofafed ¥ @ S1F-91 915 &1 IR Tel 82
Flash flood
A
TP RID T1¢
River flood
B
T8 P 91g
Avalanche
C
fewege
Storm surge
D

T T

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 70  Which of the following is not caused by drought?
2708165

9 & A B9 9@ P SR L gl 87

GET IT ON

Google Play
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Volcanic eruption

A

SaraTE faeple

Landslide
B

P GENE

Migration
@

LEIGE]

Wildfires
D

ST FT 3T

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 71 Which of the following statement is correct about cyclones?

2708166
frafafed § @ SF-91 Hu= Iwardl & IR g 82
A tropical cyclone gets its name on basis of location and strength.
A
TF IWEfeddiy Twara ST AW W R AR F muR W e 31
Tropical cyclones bring rains.
B
Iwrsfesefia awara auf ad §1
Only some tropical cyclones are dangerous.
C
FId 5T SWBTRSH Tehard g WD B Tl
All of the given options
D

few e 4l fawe
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 72 Which of the following gives the interval between one full moon and the next?

2708211
frofafed & @ SF-u1 t guf I oiR orret gof gmn & o siaRTar warar 82
26.5 days
A
26.5 fa
27.5 days
B
27.5 &7

C 28.5 days
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28.5 a1
29.5 days

29.5 faq

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 73 Who gave Binary start hypothesis?

2708216
TR T aReed T frga &
Drobyshevski
A
Siferowt
Hoyle F
B
giaa U6
Russel H N
C
AT
Schmidt, O
D
fRwe, ot

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 74 Which of the following instrument measure the speed of wind?

2708285
frafafed & 3 S1H-91 93 ga1 1 70 B AH@ 82
Altimeter
A
SrediHier
Anemometer
B
TR
Hypsometer
C
sy
Hygrometer
D
FIIRER

Correct Ans : B
Subject : SOCIAL SCIENCE
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Q.No: 75 In which of the following clouds ‘hails’ are formed?
2708301

it 7 @ g aea § e &7 82

Cirrus clouds

A
R arqa
Cumulonimbus clouds
B
FEEfEEY aed
Nimbus clouds
C
[EEGEICK]
Status clouds
D

¥ed dIgd
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 76 Where is widest continental shelf is found?
2708306

T dreT HETEIN Dot el UrT Sl 87
Arctic ocean
A
HTHR® HerarR
Atlantic Ocean
B
feeifed HERNR
Indian ocean
C
fée wermR
Pacific Ocean
D

YUId HeTHNR
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 77 Which of the following is not a category of industrial waste?
2709392

0 7§ 3 o9 sheifie s &1 doft 7t 32

Domestic waste

ERG R i

B E-waste

GET IT ON

Google Play


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

§-3ufre

Nuclear waste
C

TRATY] Sy

Mental waste
D

AR Uy
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 78 Which of the following is not a principle of Solid Waste Management?

2709393
frafafed & 3 S &1 319 Sy uee @1 fisid T8 82
Refuse

A
PR B
Reduce

B
PH DY
Reuse

C
g I B
Return

D
werg

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 79  Which of the following is not a process of waste management?

2709394
Fofared & 9S-I ey yded 1 ufshar 781 82
Collection

A
TuE
Segregation

B
GUTFDHIOT
Treatment

C
SRR
Extraction
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feremeor
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 80 What is ‘Leachate’?

2709395

e T g?

It is a landfill site to dump the waste.
A

Yg H B SU P & fog Asfper wrge 21

It is water that has percolated through sewage.
B

Tg Uit § ot AW & "o @ R ma g

It is a cleansing agent for industrial wastage.
c

T8 Sieifie svera ¥ Rig oo wwTE e 21

It is pure water in a well.
D

g TP $U W Y U B
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 81 Which of the following does not cause soil erosion?

2709396
frafifad & & B9 g1 e &Y Bl 82
Wind
A
Gl
Cloud
B
CIE)
Ice
C
ELg
Human activities
D

g nfafafirt
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 82 Which of the following is not the appropriate method to achieve sustainable waste management?
2709397

R SURY Feed T B3 & forg Fafared § § Sa-0 fafy 3fa 76 82
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Formulating law

A
DI ST
Strategic Planning
B
AR e
Institutional capacity building
@
HRITTT ga frafor
Closing chemical industries
D

INRE I B dg BT
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 83 Which of the following is not correct combination of industrial waste with its category?

2709398
frofafed & @ o 1 Siifie ok &1 oot Joft & Ty OEt T e 72
Liquid waste- food waste, green waste, garden waste
A
T ARrg- WIS R, T eI, A Uy
Hazardous waste- toxic elements, radioactive elements
B
AT HURTE-faur T, A aa
E waste - Laptop, chargers, old mobiles
C
§ B - AYCTY, ATOR, R WEgd
Recyclable waste- food waste, textile waste, paper waste
D

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 84 Which of the following type of species are found only in specific areas?

2709435
fofafed & 3 fog veR 3t usifa Saa Ak &= & o ardt 32
Vulnerable species
A
PR Yoot
Endangered species
B

AU Yerfaat

C Endemic species
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I yemfaar

Normal species

[T yerfaat
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 85 Which of the following trees usually found in Himachal and Arunachal Pradesh are nearly extinct due to over exploitation for their use in
2709436 treatment of cancer?

o 3R U YW & IR W Y S aTet FEfifd # @ #H I U FIR & 3ol § 75 IUANT & T Al g & SR a4 g &) 7T 82

Eucalyptus
A
M
Chinar
B
e
Yew
C
HeldgR
Pine
D
Gic)

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 86 When was the Indian Wildlife protection act implemented?

2709437

HRAT ggoild TR0 AT He ] fovar mar o1 2

1971
A

1971

1972
B

1972

1974
C

1974

1975
D

1975

Correct Ans : B

Subject : SOCIAL SCIENCE
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Q.No: 87 Which state has shown gain in forest cover, according to ISFR 2021?

2709438
YR 37 fRufy R 2021 & TR S A1 77 a16R0 g <= aran 9 § 2
Andhra Pradesh
A
st TR
Arunachal Pradesh
B
BT YSGR
Manipur
C
AforgR
Mizoram
D
i

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 88 Which of the following state has the largest area under the permanent forests?

2709439
Fafafad § 9 g ws & Rl o & ded Ie9 937 &7 82
Madhya Pradesh
A
A W™
Rajasthan
B
RIS
Arunachal Pradesh
C
U T
Chhattisgarh
D

BANTTG
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 89 For detection of which of the following “Argentometric method” is used?
2709464

9 & ¥ fge! uar @ & R i fafr o1 Sugnt fevar @i 82

Chlorides

RIS
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Nitrates
B
AEETH
Phosphorus
C
BEERY
Silicates
D
faferpe

Correct Ans : A
Subject : SOCIAL SCIENCE

Q.No: 90 United Nations Conference on Environment, also termed as Earth Summit, was held in 1992 in which city?

2709465
TafaRe R gad Ay THeH, o gt R gwiad ot 51 9 7, 1992 ® 5w weR # smafora o mar ure
Rio de Janeiro
A
far St sAfat
Kyoto
B
e
Stockholm
C
wiegm
Copenhagen
D
BT

Correct Ans : A
Subject : SOCIAL SCIENCE

Q.No: 91 In which part of the atmosphere the momentum, heat flux and moisture content are conserved?

2709466
GHTST & 5 U F T, AT yaTe SR T B A GRide w82
Surface Boundary Layer
A
aa Har o=
Mesosphere
B
FIRBRR
Troposphere
C
&ihisa

D Stratosphere
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JqdIg q8d
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 92 Which of the following is measured in hardness of water?

2709467
frafafed # @ g o 3 FeRar | AT ST 82
Sum of calcium and magnesium concentrations
A
Ffcrraw ok AR Higar o1 aRT
Sum of iron concentrations
B
W B |igar BT AT
Sum of nitrites concentrations
C
ATSEISE HigdT &1 IR
Sum of iron and nitrites concentrations
D

WIR 3R ATgerge Higar &1 G
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 93 Which of the following term is use for the process of removal of top fertile soil by water?

2709468
o & 3 frg wIsg &1 ST U gRT < IuSe; et oY gem it ufthar & R faar Wi 82
Leaching
A
e
Siltation
B
KL
Weathering of soil
C
T BT &
Soil erosion
D

Har uRG
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 94 What is the name given to lose and fragmental material on the moon’s surface?
2709469
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FT BT g W o) g2 ok Wsa arnlt &1 @ar 919 fean man g2

Regolith soil
A
Yeifery frgt
Glacial soil
B
fewrdt g
Black cotton soil
C
T Hu gt
Red soil
D
T fargh

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 95 The elemental composition of earth’s crust in the descending order of weight percent is given by which of the following options?
2709470

UR yfa=rd & raRie! o § gedt 3 gt o1 aife Wued Fufifad § 9 e fawed gry fgon mn g2

Silicon >Aluminum> Iron >Calcium

A
it > Tegfiam > mRe > Fieraw
Aluminum> Iron > Calcium >Silicon
B
Tegftifaa> smaRA> Sferaas> fifers
Iron > Calcium > Silicon >Aluminum
C
IRRA > By > fferet > vegrifay
Calcium > Silicon >Aluminum> Iron
D

Ffrma > RifeeH > vegfifag > smRa
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 96 What is full form of CPCB?

2709473

it 1 qof w0 T 82

Centre for Pollution Checking Board
A

Hex I Ui IFFT

Center for Pollution Control Board
B

Fex BIR UTegRH Heid a1

C Centre for Pollution Control Board
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HeX BR UTege S a8

Centre for Pollution Calculating Board

T B} UegmH Fagpafen as
Correct Ans : B
Subject : SOCIAL SCIENCE

Q.No: 97 When did ‘Third Battle of Panipat’ take place?

2709507
TG BT TRT I gl AT ?
1761
A
1761
1780
B
1780
1785
C
1785
1790
D
1790

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 98 When did Round conferences between British and Indian representatives started and ended?

2709508
fafewr ok urda ufafftedt & g Mads T Fa P& SR IO gu?
1930-1932

A
1930-1932
1929-1933

B
1929-1933
1930-1933

C
1930-1933
1929-1932

D
1929-1932

Correct Ans : A

Subject : SOCIAL SCIENCE
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Q.No: 99
2709509

Which of the following is not a feature of Gandhi- Irwin pact?

Frafefed & 9 1A @1 Tidt-gfa Frghd 31 Qv 76t 82

The round table conference was agreed by the Indian National Congress.

YR AT S GRT Merds G 1R Heafd sad 31 18 A

The civil disobedience movement was halted by congress.

BT gRT T 3G it &1 A faar wr

British government withdrew all ordinances restricting congress’s activities.

fafesr weR A w09 @) nfafaftry @ ufdfia 37 ara gt iy @1 arow @ feram

British government refused to remove the salt tax.

fafesr PR A THE B geM T TR HR fean

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 100 Which of the following was not a feature of the Mountbatten Plan?

2709510

FRafifad & ¥ $19 91 gdeded aiemT o fdivar 7 o2

British India was divided into two dominions.

fafesr wra @1 &) sfRTea & favrime fear mar

The date of transfer of power was fixed to 15% August,1947.

T & gEiaRur $t fafy 15 R4, 1947 Fufika #t 1 i

The constitution framed by Constituent Assembly to be applicable to Muslim areas as well.

I TUT gRT ST T S gitaw e w oft @y g m

The British Monarch will no longer used the title ‘Emperor of India’.

fafesr wure 3@ "YRa & que' e 1 I T B

Correct Ans : C
Subject : SOCIAL SCIENCE

Q.No: 101 Which of the following war between India and Pakistan had ‘Operation Gibraltar’ as its root cause?

2709511

URA 3R Wb & o9 Fafied & 3 59 gz &1 9a SR 'SR e’ e
1947

GET IT ON

Google Play
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1947
1965

1965
1971

1971
1999

1999

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 102 Which of the following Viceroy took first step to separate the local and central finances?

2712276
Frafefaa & 3 foog AR 3 /R SR Sy fad B o $7 S g ugd Had Iomn
Lord Canning
A
wrs S
Lord Mayo
B
e aa
Lord Mountbatten
C
wré Ardeded
Lord Benedict
D

g Ffewe
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 103 Eka movement of 1921 against British government was basically related to which of the following community?
2712300

fofex PR & fEATE 1921 &1 U1 Siidiod ga & 9§ Fufiad & ¥ oy e @ dafia

Traders
A
Ry
Farmers/Peasants
B
feam

Civil servants
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fafae e

Soldiers

s

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 104 As per Factories Act 1948 canteen should be provided in factory where more than ____ workers are employed.
2712305
HREAT AT 1948 F IR FAFRAM A _ F 31w 4 Frika 8, 967 He A Bt awi] B ol Tyl
100
A
100
250
B
250
500
C
500
1000
D
1000

Correct Ans : B
Subject : SOCIAL SCIENCE

Q.No: 105 Which of the following association was having an aim to influence public in England about the conditions of Indians in India?
2712327

fFafafad & ¥ frg 9= o1 3839 YRA H HRAE! Bt RUfDt & IR & i | wdT &l wuifad &= ur?

Bombay Presidency Association

A
e SASRA TifeR
East India Association
B
$¥e $fean gEifgRE
Poona Sarvajanik Sabha
C
AT et~ T
Bengal British India Society
D

e fafewr sfear Tmgd
Correct Ans : B

Subject : SOCIAL SCIENCE
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Q.No: 106 Who wrote ‘Amar Sonar Bangla’ to motivate the feeling of nationalism during the fight for freedoms?

2712344
AT T & TR AFATE Pt HET B URT B & 1T "SR GHR I SF 1 fobe Y 2
Bankim Chatterjee
A
%W Tesit
Rabindra Nath Tagore
B
gAY TR
Sarojini Naidu
C
W ATag
Subash Chandra Bose
D

JUTY 95 T
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 107 Who was the Chairman of the Drafting Committee of the Constitution of India?

2712385
URT & Tfae $ TRy 9l F sreae i 92
J.B. Kripalani
A
Sidt puart
Rajendra Prasad
B
HEEREIC
B.R. Ambedkar
C
. 9R. srsar
Jawahar Lal Nehru
D

AR AT A5
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 108 Directive Principles belongs to which Part of the constitution of India?

2712406
I5g F ifd Fewe Rigid YRa & dfeym & g wm § ffga &
Part I1

A
YRT II

B Part II1
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YT II1

Part IV
C

HAT IV

Part V
D

HFT V

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 109 Who is not a citizen by domicile?

2712420
Ty gRT B ARG T 82
Those who are born in the territory of India.
A
St WRd & &7 | Ua1 gu )
Those whose either mother or father was born in the territory of India
B
o g o T yRa S A A dergu @
Those who have been ordinarily residing in the territory of India after commencement of Constitution of India
C
HNURTF HRYTF IR A F IR A WRA S ST A AT FU AT 8
One who has been ordinarily resident in the territory of India for not less than 5 years immediately preceding commencement
of Constitution of India.
D

S URA & TRAYE F AR A 1% Ted $H A HH 5 961 P 0 YRd F &7 & WA =9 | Fari w18
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 110 The principle of ‘Collective Responsibility’ has been incorporated in Article-

2712478
e SoRaRia 3 Rigia @ e orga & St Rear 8-
75
A
75
74
B
74
105
C
105
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53
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 111 Which one of the following is not an essential characteristic of a federal Constitution?
2712518

Fafafad & @ eF-91 9dig I $1 srawge Qv T8 872

Distribution of Powers

A
wiferat ®1 faaRor
Supremacy of the Constitution
B
WY FT wataar
Presidential form of Government
C
WHR FT AL WY
A written Constitution
D

s fof@a wfaum
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 112 What is the status of Right to die in India?

2712567
URT & TRA & R &) 1 fRufa & 2
Fundamental right
A
iR siftrer
Constitutional Right
B
HauT® SR
Right of freedom
C
AT 3T HRUBR
Unconstitutional right
D

U fterR
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 113 Which one of the following statement is correct?
2712586
An ordinary bill introduced in Lok Sabha or Rajya Sabha becomes law-

GET IT ON

Google Play
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fofafed & 3 9 1 HU 98 32
BT a1 T & U 31 7T T WIUR fI4TE B 97 6 8-

When it is passed by both the Houses and assent of the President is received

Wd g g1 WAl g1 Ui fran S @ oik wgufa 3t weafy wr g @

As soon as it is passed by the both the House

S 81 g Q1 weAl gRT uIia fan simar @

As soon as it is passed by the House in which it is originated

S € U8 39 Ao g1 uiiva fbar wirar @ forrd ug Sd gen 8

None of the given option is correct.

IR H Qo e IRt a8t & 1

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 114 Disputes between States in India come to the Supreme Court under

2712588

HRA § 0 & St faare gdte < § fge e amar @

Appellate Jurisdiction

ftefi ofter &=

Advisory Jurisdiction

TAGPR AP

Original Jurisdiction

o SR &

None of the given option is correct.

IR F A B Rrea g T8 ¥ 1

Correct Ans : C
Subject : SOCIAL SCIENCE

Q.No: 115 The High Court's authority to issue writs extends to:

2716647

e O w1 & fore S= ey & SiieR 1 IR Ay a9 §:

Constitutional Rights

HIUFE SR

Statutory Rights

GET IT ON

Google Play
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Aufe PR

Fundamental Rights
C

iR sfterR

All of the given option is correct.
D

REmmal e ad 2 |

Correct Ans : D
Subject : SOCIAL SCIENCE

Q.No: 116 Which of the following Delhi Sultans has been referred to by historians as a "combination of opposites"?

2718618
Fofifed fwh gemi & ¥ frae! siemeR! 7 "R & Yo" & w0 & deiiid i 82
Balban
A
CRCES
Alauddin Khalji
B
SaTSE faest
Muhammad Bin Tughlaq
C
Tewe T g
Ibrahim Lodi
D
goTfen

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 117 was captured by Shivaji, who also amassed a substantial haul.
2718652

o Y Rraroelt gRT et &) foran T o, Siet vt O ¥ A o7

Bijapur

degR

Poona

Konkan

Surat
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rd

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 118 Who is the author of the book "A Gift to Monotheists"

2718681
g fie ¢ ARy g&ie & d@s BIF §
David Hare
A
SIEER
Raja Ram Mohan Roy
B
I X HigH I
Mahadev Govind Ranade
c
Heled Tifde IS
Ramkrishna Bhandarkar
D

IHPW HSRPY
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 119 Which of the following reformers founded the Sathya Shodak Samaj, also known as the Truth Seekers Society?
2718685

frofafad & @ fru guRe I NS T0TS &1 RO 31, Y 7 died grarsdt of e o 82

Gopal Krishna Gokhale

A

MUTd FOT TG

Jyotirao Phule
B

feRTE o

Dayananda Saraswathi
C

CRIECR T

Shiv Narain Agnihotri
D

R TR e

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 120 Subsidiary Alliance was established by:
2718699

Te® Toae fhad gRT RN fasar mar o
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Lord Wellesley

A

GISECER

Sir John Shore
B

Y S TR

Robert Clive
C

e FaTgd

Lord Dalhousie
D

TS S

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 121 Which of the following nations produces and consumes the most steel globally?

2721329
frofafad ¥ 3 oF o 39 fay TR R 969 e € $T1 Jded iR |ud HRal 2
India
A
YR
Japan
B
SICIG)
China
C
CiEi
United States Of America
D

T o ARkt
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 122 The largest geothermal power plant in the world is located in which nation?.

2721449
fay o1 T So1 R TR w@ie v o & fRud 32
Australia
A
sifeeferar
USA
B
KUY

C France
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China

Einl
Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 123 Which of the following items cannot be categorised as fossil fuels?

2721460
fFofafea 7 9 frg axg & oy $e9 % T o Fifea &) o o gwar 82
Coal
A
e
Fire wood
B
TS TDI
Natural gas
C
wFpfE |
Petroleum
D
giferaw

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 124 This region has produced 50% of the world's gold over the past 100 years. Choose the region's name from the following list.
2721465

39 &= 7 fosa 100 a6 § gFAT & TH BT 50% Sare far g1 Fafiied =t o 9 & &1 W T

The Canadian Shield region

A

PR s &

Western Cordilleras of North America
B

It et 31 ufdndt S

Witwatersrand region of Johannesburg
C

Sgraa 1 faeareds &

Ruhr Valley of Germany
D

it Ft Fev Tt
Correct Ans : C
Subject : SOCIAL SCIENCE
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Q.No: 125 holds the majority of the timber trees:
2721577
goforeht a7 & SR TSl & i ga &
Monsoon and Mangrove forest
A
YA 3R FSEeR a=
Deciduous and Monsoon forest
B
gofurdt 3R AR a9
Deciduous and Coniferous forest
C
qufgret SR Tpurt o=
Deciduous and Mangrove forest
D

qofuredt ok TeEER T
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 126 The International Court of Justice has how many judges?

2721816
i =mared ® fean =mndiy §2
Sixteen judges
A
Hierg =gt
Eighteen judges
B
3BRE AT
Seventeen judges
C
GEGRIRIIR
Fifteen judges
D

ugg et
Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 127 Who served as the first female president of the United Nations General Assembly?
2721818

TG XY AT BT Ugeh AR sieme & = H fhaa e fpare

Vijay Lakshmi Pandit

fawra @est dfea

B Aruna Asaf Ali
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3BT TG 3t

Raj Kumari Amrit Kaur

I FHR A BR

Sarojini Naidu

WA g
Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 128 Communal politics is predicated on the notion that religion is the primary source of:

2721886
Tiyeres Ao §8 9ROT W amuid § f o &1 e A §:
Social community
A
ISP THE™
Politics
B
e
Cultural community
C
wivpfa® wHam
Economy
D
Sefarawt

Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 129 People from scheduled castes and tribes are given reservations in educational institutions, government positions, etc. These facts
2721952 gemonstrate that the Indian Constitution:

ST S SR TG ST & ARl b fRiefor TR, TRARY uel onfe & sRepor fear o 81 3 q vefia wxa § 5 uRdg wfaur:

Strived to ensure an equitable and just society by reducing economic and social injustice

A
3T 3R YTAIIG ST B H HIP Th JHATHAD 3R Araqul TaTS AT H1 T 009 Hdl &
Citizens have the freedom to express their opinion
B
AR B 31U faaR oged B BT aedr a1 §
The Indian Constitution proclaims that the head of the state will be elected and not be a hereditary ruler by any external
authority
C

YR Wfrer Shvon H3ar § R e &1y Fraffra @ ek demra e e g

D An independent India, no longer governed
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Correct Ans : A

Subject : SOCIAL SCIENCE

Q.No: 130 Oceanic area upto from the coast is termed as territorial water.
2722104
g qe T F TR &F $1 MSGRIG ST gl Il 3
200 nautical miles
A
200 I dia
22.2 nautical miles
B
22.2 9 dia
2.2 nautical miles
C
2.2 9gst #ia
12 nautical miles
D

12 |5t Hia

Correct Ans : D

Subject : SOCIAL SCIENCE

Q.No: 131 Which of the following conservation tactics does not entail direct community involvement?

2722129
frafifed & & BiF-3 wReor oA & vae Seis Yriert e T 82
Joint forest Management
A
RipCOIGERCLE
Beej Bachao Andolan
B
I Fenai srigre
Demarcation of wild life Sanctuaries
C
T e SHARUE! BT HHGT
Chipko Movement
D

fruet srigtas
Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 132 What year did the Indian Wildlife (Protection) Act come into effect?
2722144
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fa o uRd a=elia (ERemn) Sififom @r gam?

1974
A

1974

1979
B

1979

1972
C

1972

1970
D

1970

Correct Ans : C

Subject : SOCIAL SCIENCE

Q.No: 133 is a commercial crop in Haryana and Punjab, but in Odisha, it is a subsistence crop.
2722193

g 3R Uoe # U srauiie Bd 8, Afe ifswn #, I te Fafe wad 71

Maize
A

HIPT

Rice
B

EICH]

Coffee
C

EaLal

Wheat
D

g

Correct Ans : B

Subject : SOCIAL SCIENCE

Q.No: 134 Which of the following is the most important in learner center curriculum?

2473746
Rremelf Hsfia Trsum & g & ¥ FH-91 I99 Aeayyf 82
Teacher
A
e
Child
B
CILd

c Content
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fawgayg

Environment

qgfavur

Correct Ans : A

Subject : Pedagogy

Q.No: 135 Which of the statement is incorrect?

2476721

T q BH-TT B T © ?

Cultural stimulations specially in early years can improve scores on intelligence test
A

ARPIAD IAWD P UR FX AP g, Iy 0 & gfF wdemr F yrfires avon &

Low IQ’s test tend to be inherited and for that reason retardation runs in families
B

1 1Q ®1 Wiarur FTgTA Biar 3 SR 3 PRUT aRART & wear Ted &

Mental retardation may be caused by a variety of medical or physiological condition
C

AR Hed $% @E @1 Rifrsia a1 3difve Rt & oro 8 wedt @

Most human reasoning is done without symbols.
D

Sif¥eiar AR 9 famr udfiet & fpe o @
Correct Ans : D

Subject : Pedagogy

Q.No: 136 Match and choose the pattern of motor control

2477446
Column1 Column 2
1.4 to 5 months a. Shows more cooperation during play and a willingness to share
2.6 to 7 months b. Shows more interestin playing with other babies and uses play materials
to establish social relationship
3.9 to 13 months c. Smiles at other babies and shows an interest in their crying
4.13 to 18 months d. Tries to attract the attention of another baby or a child
5. 18 to 24 months e, Attempt to explore the clothes and hair of other babies

forarere gz & U &1 e &% SR T
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1.4 8 5 7= a. % ¥ = s#fts wgdr 3R w0 S A goor R §

2.6 &% 7 7f= b. 3+x Tea) & wIU doa & WiOw W Ra ¢ swfas gau
e & & T o gl F1 39490 St ¢

3.9 ¥ 13 7w ;.qataw?ﬁmwmaﬂrmﬂﬁﬁmm

4.13 ¥ 18 7t d. gFY Te2 AT TR F GO AT S 7 S s g

5. 18 & 24 7w e. ¥v Tval § F9¢ #Y W@ W GO &R 1 @

1-e, 2-d, 3-b, 4-c, 5-a

A
1-e, 2-d, 3-b, 4-c, 5-a
1-d, 2-c, 3-e, 4-a, 5-b
B
1-d, 2-c, 3-e, 4-a, 5-b
1-d, 2-e, 3-b, 4-a, 5-c
C
1-d, 2-e, 3-b, 4-a, 5-c
1-e, 2-d, 3-c, 4-b, 5-a
D

1-e, 2-d, 3-c, 4-b, 5-a
Correct Ans : B

Subject : Pedagogy

Q.No: 137 X is a 14 year old child who is not very good at studies. Due to this reason he is made fun of and insulted by a group of his classmates.
2477688 Angered by this, X starts hitting the group-members. What first thing should the teacher do in this instance?

X U 14 9T &7 T § Sl UgTs H 9gd 35T T8 &1 39 PRUI Y IUP Yeuliddl & Th G4g GRT SUH! Holdh IS Wil § 3R IHHT SUHH fbar & 3
T AR BB X, 9 THE F Ta! Bl UieT Y= R dT 71 39 AW H R 31 qod Ugd 71 ST F1iey?

Talk to the parents of X and the group-members only.

A
X 3R Ig & e & qrar-fNar ¥ € Faa 91 B
Suspend X for a few days.
B
Fo A & fw x =t ads w1
Talk to X and the group-members and then their parents.
C
X IR TG & Fewn SR fih 37 arar-fiar @ ard ¥
Suspend X and the group-members immediately.
D

X 3R Ig & e # gid fFafaa ¥
Correct Ans : C

Subject : Pedagogy
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Q.No: 138 Which of the following is NOT a reason for children beginning use of addictive substances?

2477707
froffad & 9 S1F s gRT RIS gerf o1 I Y& B BT HRU 6T 82
Gaining acceptance in peer-groups.
A
HeoH! wgl # wehy ura S
Using it as a source of relaxation.
B
39 fagm & B9 & U & IUGRT BT
To reduce negative feelings.
C
APRIAS WIS T HH HeA F gl
Going to school
D

pd ST
Correct Ans : D

Subject : Pedagogy

Q.No: 139 According to Gandhi and are the foundation of education.
2479563
et ¥ AR R e T 3R §
Truth, Purity
A
T, ufaerar
Truth, Accessibility
B
T, sifiErerar
Loyalty, Hark work
C
TEIRRY, BfeT uRsm
Purity, Talent
D

ufesrar, ufaur
Correct Ans : A

Subject : Pedagogy

Q.No: 140 According to Sri Aurobindo’s theory of progressive education, which of the following is the correct principle regarding the job of a teacher?
2479638

ot eRfE % yrfareiia Rien & Rigid & AR e B A6 & Ty & Fafeia & 3 o a1 9et Rigia 22

Teacher should be like a helper or guide to students.

Riere @) oEl & T TeT® 91 ANiei® P @RE ST Uiy

B Teacher is an instructor or task maker.
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e Te uikiers o1 o fmfar @
Teacher’s job is to impose but not to suggest.
C
Rrere &1 B0 dIyAT @ AP g A7 TG
Teachers should train the mind of students.
D

gt 1 o=l & feum &) uRifdgm wer @ik

Correct Ans : A

Subject : Pedagogy

Q.No: 141 Guilford has divided the dimension of product into how many categories?

2479749
eSS (Msae) F omam i fhat aftr # fawfera fa 22
2
A
2
4
B
4
6
C
6
8
D
8

Correct Ans : C

Subject : Pedagogy

Q.No: 142 Stanford-Binet Intelligence Scale cover the people in which of the following age range?

2479842
WABIS-fane gfe Ao ($fesie W) Fafefaa # @ fog omg i # o & forg 82
2 Years to 18+
A
299§ 18+
4 Years to 18+
B
499 ¥ 18+
5 Years to 18+
C

59 Y 18+

8 Years to 18+
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8 UTa ¥ 18+
Correct Ans : A

Subject : Pedagogy

Q.No: 143 What is the name of the process used by educators to identify the learning difficulties or impairment in order to determine the special
2480363 c{ycation needs of children?

T & AR e Bt smazgwarstt &1 Fuila w1 & forg Sifivm o) Bigsal ar srgudarsii &t ugam &34 & e et gR1 ISuahT &1 o arelt ufhar o1
A a1 8?7

Response to intervention

A
&y & ufa ufafdea
Response after intervention
B
T8 & a1 ufafear
Response before intervention
C
T | ugd ufafeear
Response between interventions
D

gwaul & &g ufafear

Correct Ans : A

Subject : Pedagogy

Q.No: 144 Who among the following has been the Speaker of Lok Sabha for the longest period?

2650224
iR § § F17 999 dd G99 0% AuHT Sy ) §2
Meira Kumar
A
T PR
Somnath Chatterjee
B
|y et
Balram Jakhar
C
IRTH STES
Gurdial Singh Dhillon
D

TRegTd g feea
Correct Ans : C

Subject : Gen. Gnowledge &Current Affa.

Q.No: 145 Who was the first president of constituent assembly?
2650247
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TfIYH THT S UYH 3fege] i A?
B.R. Ambedkar

A
.9, srasaR
Rajendra Prasad
B
REE-R
Sachchidananda Sinha
C
wferere Rt
Harendra Coomar Mookerjee
D

T DR gl

Correct Ans : C

Subject : Gen. Gnowledge &Current Affa.

Q.No: 146 Which of the following is the first international airport of Madhya Pradesh?

2651065
9 & § AT 1 Ugal SRS TaTs gl HH-1 52
Indore airport
A
$ER TR
Bhopal airport
B
HiuTer gaRaé
Jabalpur airport
C
AR TIRUE
Gwalior airport
D

TqIfeR TURuIE

Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.

Q.No: 147 Abdul Kadar Khatri has been felicitated by the prestigious UNESCO and world craft council award in which year?
2651500

3ol BIeX Tl B! by aF ufafRd gws! 3R Ry Riew ufve RepR § g faar mar 82

2019
A

2019

2013
B

2013

C 2016
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2016
2018

2018
Correct Ans : D

Subject : Gen. Gnowledge &Current Affa.

Q.No: 148 Find the related word from the given alternatives.

2653622
Eat : Ate
fau Tu fawedt @ Heifdd 21sg 19 A
[ ;& e
Contract : Clause
A
SFEY : YRT
B Win : Won
Siter : Sffe foran
c Unreliable : Inhuman
Sy :
D Food : Hunger
WieH{ : Y@

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 149 If 216 small and identical cubes each of side 1 cm are placed together to form a bigger cube, what is the length of each side of the bigger
2653704 (ype (in cm)?

T 1 I YT AT 216 B R THEY T BT TH 1Y YWIR §T U4 ST 9T, o 99 T Pt S Yol B qa1s (I #) o1 gt

5
A

5

6
B

6

7
C

7

8
D

8

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.
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Q.No: 150
2653752

247

P §£ Q means Pis the mother of Q

P # Q means Pis the father of Q

P (@ Q means P is the husband of Q

P %Q means Pis the daughter of Q

A (@B $C#D indicates what relationship of A with D?

PSQHT T & P, Qfr AT &
P£Q®H AT E P, QFT AT &
r@QF AT EF pQarufg &

P%QF AT E fh P.Q&I T &

A@BSCH#D ST #dr § T A®T D& 1Y &7 Tay &7

Paternal grandmother

T

Paternal grandfather

alat

Maternal grandfather

GlEI

None of the given options

fg g fawedt # @ @I T

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.
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